LAD _002_BITS - Ladder Diagram Page 1

RSL5T)0:MainTask:MainProgram 10/29/2008 2:07:02 PM
Total number of rungs in routine: 5 E:\RSL500.ACD
INPUT OUTPUT
1:1/00 0:2/00
Local:1:I.Data.0 Local:2:0.Data.0
0 1 E
INPUT INPUT INPUT INPUT OUTPUT
1:1/01 1:1/02 1:1/03 1:1/07 0:2/01
Local:1:I.Data.1 Local:1:I.Data.2 Local:1:I.Data.3 Local:1:I.Data.7 Local:2:0.Data.1
1 afls afls afls afls L
INPUT INPUT INPUT
1:1/04 1:1/05 1:1/06
Local:1:I.Data.4 Local:1:I.Data.5 Local:1:I.Data.6
| — —
INPUT INPUT INPUT INPUT INPUT
1:1/08 1:1/09 1:1/10 1:1/11 1:1/12
Local:1:I.Data.8 Local:1:1.Data.9 Local:1:1.Data.10 Local:1:1.Data.11 Local:1:1.Data.12
2 1 E 1 E 1 E 1 E 1 E
OUTPUT
0:2/08
Local:2:0.Data.8

u

INPUT INPUT INPUT OUTPUT
1:1/13 1:1/14 1:1/15 0:2/15
Local:1:I.Data.13 Local:1:I.Data.14 Local:1:l.Data.15 Local:2:0.Data.15
3 e ——— e ——— e
ONE SHOT
ONE SHOT OUTPUT
B003[0].0 B003[0].2
4 — ONS ]

RSLogix 5000



LAD _002_BITS - Ladder Diagram Page 2

RSLS—OO:MainTask:MainProgram 10/29/2008 2:07:03 PM
Total number of rungs in routine: 5 E:\RSL500.ACD

(End)

RSLogix 5000



LAD 003 _TIMERS - Ladder Diagram

RSLS—OO:NTainTask:MainProgram
Total number of rungs in routine: 4

Page 3

10/29/2008 2:07:03 PM

E:\RSL500.ACD

(End)

-~ TIMERINSTRUCTIONs
TON TON TON
1.0 TIMER 1.0 TIMER 1.0 TIMER TON
ENABLE TIMING DONE 1.0 TIMER
TOO4[0].EN  TOO4[0].TT  T004[0].DN TON
H F  F  F Timer On Delay —CEN)——
Timer T004[0] (DN >—
Preset 3600000
Accum 0
TOF TOF TOF
0.01 TIMER 0.01 TIMER  0.01 TIMER TOF
ENABLE TIMING DONE 0.01 TIMER
T004[1r1.EN TOO4[1A.TT T004[1r1.DN TOF
5k 5 E 5 | Timer Off Delay —CENDO—
Timer T004[1] —CDN)>—
Preset 327670
Accum 0
RTO RTO RTO
0.01 TIMER 0.01 TIMER  0.01 TIMER RTO
ENABLE TIMING DONE 0.01 TIMER
TO04[2].EN TO04[2].TT T004[2].DN RTO
q F q F q F Retentive Timer On —CEN >——
Timer T004[2] DN —
Preset 10
Accum 0
RTO
0.01 TIMER RTO
DONE 0.01 TIMER
T004[2r1.DN T004[2]
1k RES

RSLogix 5000



LAD_004_COUNTERS - Ladder Diagram

RSLS—OO:MainTaSk:MainProgram

Page 4

10/29/2008 2:07:03 PM

Total number of rungs in routine: 3 E:\RSL500.ACD
CTU CTU CTU CTU
ENABLE OVER FLOW DONE COUNTER
C005[0].CU CO005[0].0V CO005[0].DN CTU
0  F  F  F Count Up CU)>—
Counter C005[0] H(DN)>—
Preset 500
Accum 0
CTD CTD CTD CTD
ENABLE UNDER FLOW DONE COUNTER
COOS[p.CD COOS[1J.UN COO5[1J.DN CTD
1 5 E 5k 5 E Count Down CD >—
Counter C005[1] DN )>—
Preset 32767
Accum 0
CTD CTD
DONE COUNTER
CO005[1].DN CO005[1]
2 H F RES —
(End)

RSLogix 5000



LAD 005 10 _MSG - Ladder Diagram

RSLS—OO:MainTask:MainProgram

Total number of rungs in routine: 3

Page 5
10/29/2008 2:07:04 PM
E:\RSL500.ACD

(End)

10T

MSG
ENABLE
MSGO000.EN

- — | —

Immediate Output
Update Tag Local:2:0

MSG
CONTROL
BLOCK
MSG
Type - Unconfigured —CEND)—
Message Control MSGO000 .../ (DN)—
—(ER)>—

RSLogix 5000



LAD 006 CMP_CPT - Ladder Diagram Page 6

LIMIT
TEST
LIM

RSL500:MainTask:MainProgram 10/29/2008 2:07:05 PM
Total number of rungs in routine: 9 E:\RSL500.ACD
~ COMPAREAND COMPUTEINSTRUCTIONS
COMPUTE
CPT
Compute
Dest

NOO7[1]
0

Expression NOO07[2] + NOO7[3]

Limit Test (CIRC)
Low Limit 0

Test NO07[4]
0

High Limit 100

ADD
ADD

MASKED
EQUAL
SOURCE

MEQ
Mask Equal
Source NOO07[8]
0

Mask 16#00FF

Compare  NO0O7[9]
0

Add

Source A NOO7[5]
0

Source B N007[6]
0

Dest N007[7]
0

SUBTRACT
SuUB

EQUAL

EQU
Equal
Source A NOO07[13]
0

Source B 55

Subtract
Source A NO007[10]
0

Source B N007[11]
0

Dest NO0O07[12]
0

MULTIPLY

NOT EQUAL

NEQ
Not Equal
Source A NOO07[16]
0

Source B N007[17]
0

MUL
Multiply
Source A NO007[14]
0

Source B 100

Dest NOO7[15]
0

DIVIDE

DIV
Divide
Source A N007[18]
0

Source B 4095.0

Dest FOO8[0]
0.0

RSLogix 5000




LAD 006 CMP_CPT - Ladder Diagram Page 7
RSL500:MainTask:MainProgram 10/29/2008 2:07:06 PM

Total number of rungs in routine: 9 E:\RSL500.ACD
SQUARE
LESS THAN ROOT
LES SQR
5 Less Than (A<B) Square Root
Source A N007[20] Source NO007[22]
0 0
Source B N007[21] Dest NO007[23]
0 0
GREATER
THAN NEGATE
GRT NEG
6 Greater Than (A>B) Negate
Source A N007[24] Source NO007[26]
0 0
Source B N007[25] Dest NO007[27]
0 0
LESS THAN OUTPUT
OR EQUAL WORD
LEQ TOD
7 Less Than or Eql (A<=B) To BCD
Source A NOO07[28] Source NOO07[30]
0 0
Source B NOO7[29] Dest Local:2:0.Data
0 2#0000_0000_0000_0000_0000_0000_0000_0000
GREATER
THAN OR
EQUAL FROM BCD
GEQ FRD
8 Grtr Than or Eql (A>=B) From BCD
Source A NOO7[31] Source Local:1:I.Data
0 2#0000_0000_0000_0000_0000_0000_0000_0000
Source B NO07[32] Dest NOO07[33]
0 0
(End)

RSLogix 5000




LAD_007_MOVE - Ladder Diagram
RSL500:MainTask:MainProgram
Total number of rungs in routine: 7

Page 8
10/29/2008 2:07:06 PM
E:\RSL500.ACD

MOVE
WORD
MOV

Source  NO011[0]
0

NO11[1]
0

MASKED
MOVE
WORD

MVM

Masked Move

NO11[2]
0
1640FF00

NO11[3]
0

BITWISE
AND

AND
Bitwise AND

Source A NO11[4]
0

Source B N011[5]

0
NO11[6]
0

BITWISE
OR
OR

Bitwise Inclusive OR

Source A NO11[7]
0

255

NO11[8]
0

RSLogix 5000



LAD_007_MOVE - Ladder Diagram
RSL500:MainTask:MainProgram
Total number of rungs in routine: 7

Page 9
10/29/2008 2:07:06 PM
E:\RSL500.ACD

BITWISE
EXCULSIVE
OR
XOR

Bitwise Exclusive OR
Source A NO11[9]
0
Source B B0OO03[1]
0

Dest NO11[10]
0

NOT
WORD
NOT

Bitwise NOT
Source NO11[11]
0

Dest  NO11[12]
0

CLEAR
WORD
CLR

Clear
Dest NO11[13]
0

(End)

RSLogix 5000



LAD 008 _FILE - Ladder Diagram
RSL500:MainTask:MainProgram
Total number of rungs in routine: 5

10/29/2008 2:07:06 PM
E:\RSL500.ACD

(End)

COPY
FILE

COP

Copy File
Source  N012[0]
Dest NO012[10]

Length 10
FILL
FILE
FLL
Fill File
Source 0
Dest N012[20]
Length 10
DOUBLE
DIVIDE
DIV
Divide

Source A S000[13]
0

Source B N012[30]
0

PID
ENABLE
BIT
PID000.EN

——

Dest NO012[31]
0
SCALE
CPT
Compute
Dest N012[33]
0

Expression (N012[32] * 1250) + 32

PID
CONTROL
BLOCK

PID
Proportional Integral Derivative
PID PIDO0O | ...
Process Variable NO012[34]
Tieback 0
Control Variable N012[35]
PID Master Loop 0
Inhold Bit 0
Inhold Value 0
Setpoint 0.0
Process Variable 0.0
Output % 0.0

RSLogix 5000



LAD 009 SEQUENCER - Ladder Diagram Page 11
RSL500:MainTask:MainProgram 10/29/2008 2:07:07 PM
Total number of rungs in routine: 9 E:\RSL500.ACD

BSL BSL BSL BSL
ENABLE DONE ERROR UNLOAD
ROOG[0].EN  RO006[0].DN  ROO6[0].ER  RO006[0].UL
/ | = | -

R J[

——COP——
Copy File
Source B014[0]
Dest DINTArray[0]
Length 2

BIT
SHIFT
LEFT
BSL
Bit Shift Left —CEN)——
Array DINTArray[0]
Control R006[0] —(DN)—
Source Bit B003[0].1
Length 45

——COP————
Copy File

Source DINTArray[0]

Dest B014[0]

Length 3

RSLogix 5000



LAD 009 SEQUENCER - Ladder Diagram Page 12

RSL500:MainTask:MainProgram 10/29/2008 2:07:07 PM
Total number of rungs in routine: 9 E:\RSL500.ACD
BSR BSR BSR BSR
ENABLE DONE ERROR UNLOAD
ROO6[1].EN  ROO06[1].DN  ROO06[1].ER  RO006[1].UL
1 =lis 7 E =lis 1 E
———COP———
Copy File
Source B014[3]
Dest DINTArray[0]
Length 2
BIT
SHIFT
RIGHT
BSR
Bit Shift Right —CEND>——
Array DINTArray[0]
Control R006[1] (DN —
Source Bit B003[0].3
Length 45
——COP———
Copy File
Source DINTArray[0]
Dest B014[3]
Length 3

RSLogix 5000



LAD 009 SEQUENCER - Ladder Diagram Page 13
RSL500:MainTask:MainProgram 10/29/2008 2:07:07 PM
Total number of rungs in routine: 9 E:\RSL500.ACD
SQC SQC SQC SQC
ENABLE DONE ERROR FOUND
ROOB[2].EN  RO06[2].DN  RO0O06[2].ER  RO006[2].FD
2 = /B == 5 /B == |
L FAL
File Arith/Logical —CEND)—
Control CTRLOO
Length 21 —(DN)—
Position 0
Mode ALL —CER)—
Dest DINTArray[0+CTRL00.POS]
0
Expression B014[6+CTRL00.POS]
L MOV
Move
Source Local:1:I.Data
2#0000_0000_0000_0000_0000_0000_0000_0000
Dest DINTResult[0]
0
SEQUENCER
COMPARE
SQl
Sequencer Input [ NOP |
Array DINTArray[0]
Mask 16#0000_0fff
Source DINTResult[0]
Control R006[2]
Length 20
Position 0

RSLogix 5000



LAD 009 SEQUENCER - Ladder Diagram Page 14
RSL500:MainTask:MainProgram 10/29/2008 2:07:07 PM
Total number of rungs in routine: 9 E:\RSL500.ACD
SQL SQL SQL
ENABLE DONE ERROR
ROO6[3].EN  RO06[3].DN  RO0O06[3].ER
3 5 /B =/ B = /B
File Arith/Logical —CEN
Control CTRLO1
Length 21 —(DN)—
Position 0
Mode ALL —CER)—
Dest DINTArray[0+CTRLO1.POS]
0
Expression B014[6+CTRL01.POS]
Move
Source Local:1:I.Data
2#0000_0000_0000_0000_0000_0000_0000_0000
Dest DINTResult[0]
0
SEQUENCER
LOAD
SQL
Sequencer Load —CEN)—
DINTArray[0]
DINTResult[0] —(DN)—
R006[3]
20
0
File Arith/Logical —CEN)>—
Control CTRLO2
Length 21 —(DN)—
Position 0
Mode ALL —CER)—
Dest B014[6+CTRL02.POS]
0
Expression DINTArray[0+CTRL02.POS]

RSLogix 5000



LAD 009 SEQUENCER - Ladder Diagram Page 15
RSL500:MainTask:MainProgram 10/29/2008 2:07:07 PM
Total number of rungs in routine: 9 E:\RSL500.ACD
SQO SQO SQO
ENABLE DONE ERROR
RO06[4].EN  RO06[4].DN  RO006[4].ER
4 5/ sl 5/
FAL
File Arith/Logical —CEN
Control CTRLO3
Length 21 —(DN)—
Position 0
Mode ALL —ER)—
Dest DINTArray[0+CTRL03.POS]
0
Expression B014[6+CTRL03.POS]
SEQUENCER
OUTPUT
SQO
Sequencer Output —CEND)——
Array DINTArray[0]
Mask 16#0000_00ff —CDN)—
Dest DINTResult[0]
Control R0O06[4]
Length 20
Position 0
OUTPUT
WORD
MOV
Move
Source DINTResult[0]
0
Dest Local:2:0.Data
2#0000_0000_0000_0000_0000_0000_0000_0000
FFL FFL FFL FIFO
ENABLE DONE EMPTY LOAD
RO06[5].EN  RO06[5].DN  RO006[5].EM FFL
5 = /[ = / E = / E FIFO Load EN)>——
Source B014[27] —(DN)>—
FIFO B014[28] —(CEM)>—
Control R0O06[5]
Length 20
Position 0
FFU FFU FFU FIFO
ENABLE DONE EMPTY UNLOAD
R0O06[6].EU  RO0O06[6].DN  R006[6].EM FFU
6 = /B = /B = /B FIFO Unload EU)——
FIFO B014[28] (DN —
Dest B014[48] —(EM —
Control R0O06[6]
Length 20
Position 0

RSLogix 5000



LAD 009 SEQUENCER - Ladder Diagram Page 16
RSL500:MainTask:MainProgram 10/29/2008 2:07:07 PM
Total number of rungs in routine: 9 E:\RSL500.ACD
LFL LFL LFL LIFO
ENABLE DONE EMPTY LOAD
RO06[7].EN  RO006[7].DN  RO006[7].EM LFL
7 = /[ =/ [ = /[ LIFO Load —CEN ——
Source B014[49] —(DN >—
LIFO B014[50] —CEM —
Control R0O06[7]
Length 20
Position 0
LFU LFU LFU LIFO
ENABLE DONE EMPTY UNLOAD
RO06[8].EU  R0O06[8].DN  RO006[8].EM LFU
8 = / B = / B = / B LIFO Unload —CEUD——
LIFO B014[50] (DN —
Dest B014[70] —CEM —
Control R0O06[8]
Length 20
Position 0
(End)

RSLogix 5000



LAD_010 PROGRAM - Ladder Diagram

RSL500:MainTask:MainProgram
Total number of rungs in routine: 6

Page 17

10/29/2008 2:07:08 PM

E:\RSL500.ACD

(End)

SBR
Subroutine

JSR
Jump To Subroutine

Routine Name LAD_010_PROGRAM

LBL_1
JMP)——
TND)——
LBL_1
[ LBL | MCR
MCR

RET

Return from Subroutine

RSLogix 5000



LAD 011_ADV_MATH - Ladder Diagram Page 18
RSL500:MainTask:MainProgram 10/29/2008 2:07:14 PM
Total number of rungs in routine: 15 E:\RSL500.ACD

SINE
SIN

0 Sine

Source  F015[0]
0.0

Dest FO15[1]
0.0

COSINE
COSs
1 Cosine
Source  F015[2]
0.0
Dest FO15[3]
0.0

TANGENT
TAN
2 Tangent
Source  FO015[4]
0.0
Dest FO15[5]
0.0

ARCSINE
ASN
3 Arc Sine
Source  F015[6]
0.0
Dest FO15[7]
0.0

ARCCOSINE
ACS
4 Arc Cosine
Source  F015[8]
0.0
Dest FO15[9]
0.0

ARCTANGENT
ATN
5 Arc Tangent
Source F015[10]
0.0
Dest FO15[11]
0.0

RSLogix 5000



LAD 011_ADV_MATH - Ladder Diagram Page 19
RSL500:MainTask:MainProgram 10/29/2008 2:07:14 PM
Total number of rungs in routine: 15 E:\RSL500.ACD

NATURAL
LOG
LN
6 Natural Log
Source F015[12]
0.0
Dest FO15[13]
0.0

LOG
BASE 10
LOG
7 Log Base 10
Source F015[14]
0.0
Dest FO15[15]
0.0

RADIANS
TO
DEGREES
DEG
8 Radians To Degrees
Source FO015[16]
0.0
Dest FO15[17]
0.0

DEGREES
TO
RADIANS
———RAD———
9 Degrees To Radians
Source FO15[18]
0.0
Dest FO15[19]
0.0

XTOY
XPY
10 X To Power Of Y
Source X F015[20]
0.0
Source Y 2.0

Dest FO15[21]
0.0

RSLogix 5000



LAD 011_ADV_MATH - Ladder Diagram Page 20

RSL500:MainTask:MainProgram 10/29/2008 2:07:14 PM
Total number of rungs in routine: 15 E:\RSL500.ACD
ABSOLUTE
VALUE
ABS
11 Absolute Value
Source F015[22]
0.0
Dest F015[23]
0.0
CPT
12 Compute

Dest SCP_Rate

0

Expression (4096 - 0) / (16384 - 0)

SCALE
WITH
PARAMETERS
CPT
Compute

Dest NO16[1]

0

Expression (NO016[0] * SCP_Rate) + (0 - (0 * SCP_Rate))

SWAP
BYTES
SWPB
13 Swap Byte
Source NO16[2]
0
Order Mode REVERSE
Dest NO016[2]
0
DECODE
4TO 16
B003[2].[N016_3]
14 L
(End)

RSLogix 5000



LAD 012 _INDIRECT - Ladder Diagram

Page 21
RSL500:MainTask:MainProgram 10/29/2008 2:07:14 PM
Total number of rungs in routine: 2 E:\RSL500.ACD
MOV
0 Move
Source 1
Dest NO17_0
<NO017[0]>
0
NO07[19].[N017_0] MOV
1 4 F Move
Source 2
Dest NOO7[N017_0]
0
(End)

RSLogix 5000



